Indian Economy Topicwise PYQs (2013-23)

fawg - 1 (BET\ﬁ?bTUT GﬁT Gﬁiﬁﬁﬁ?:ﬁﬁ) | Theme - 1 (Liberalisation and Industrial Policy)

Question

Marks

Words

Year

Faster economic growth requires increased share
of the manufacturing sector in GDP, particularly of
MSMEs. Comment on the present policies of the
Government in this regard.

Stfo Slo o T fafHT0r & faRITaR THo THo THo S0 &Y
¢ gs fewderdt o onfifes Tgfg & for amawaes 71
3 46y H PR B gaqM il IR fewult Hifom|

10 Marks

150 Words

2023

Account for the failure of manufacturing sector in
achieving the goal of labour-intensive exports.
Suggest measures for more labour-intensive
rather than capital-intensive exports.

- Fafdl & @8 &I U $x § fafaior 8 &t
fawrardl & HRUT IAT | Gon-Uur Faifdl &1 e s
s-gYT Fafdl & forg, Surl ol gsu|

10 Marks

150 Words

2017

“Industrial growth rate has lagged behind in the
overall growth of Gross-Domestic-Product (GDP)
in the post-reform period” Give reasons. How far
the recent changes in Industrial Policy are capable
of increasing the industrial growth rate?

"GURITR 3afY H Yhd-uRe-3dTG (Si.S1.Ut) B JaT
GafS & Siefiie afg ) Ussd 718 81" SR agu|
SfreNfie-ifa o g1 & T T uikad= sieifiie dafs &R
I S H Pl dP He&H g ?

15 Marks

250 Words

2017

There is a clear acknowledgement that Special
Economic Zones (SEZs) are a tool of industrial
development, manufacturing and exports.
Recognising this potential, the whole
instrumentality of SEZs require augmentation.
Discuss the issues plaguing the success of SEZs
with respect to taxation, governing laws and
administration.

P! WY Wipfd g fb o enffes 99 (mazSis)
SMenfie o, fafmior ok il & U W &1 39
GHTSTAT & Tl &d 8T, TH.3.918. & IqUf Hruka o
3G TR BT ALAHT § | HAYH, 7% BT 3R
TR & Tt § TH3 OIS &1 qohadl &I IRRIH &
ard Gel R i Sifog|

12.5 Marks

200 Words

2015
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Normally countries shift from agriculture to
industry and then later to services, but India
shifted directly from agriculture to services. What
are the reasons for the huge growth of services
vis-a-vis industry in the country? Can India
become a developed country without a strong
industrial base?

FHRI: % HY J IGNT IR a1 § Yaraft &I oraid g
& W YRA A1 & Y J Jarsii &1 sraRa gl T g1 e #
TN & GH1ad arsfi Bt fa=e Uafs & 1 HRUT 67
R HRT G HNAE 3NYR & o1 v faafyd 3=
I g1 87

12.5 Marks

200 Words

2014

Examine the impact of liberalization on
companies owned by Indians. Are they
competing with theMNCs satisfactorily? Discuss.

YR 1 aTeil SrIfgl IR IERIDPRUN & THTE B
TRI&UT HITSTY | T d SGRISIY HeUfal & HAooe &7 9

gfaay] HR I8 § ? fada1 Sl |

12.5 Marks

200 Words

2013

fawa - 2 (Ut erfogaRit vd 3HY JS! YHATT) | Theme - 2 (Indian Economy and

Issues related to it)

Question

Marks

Words

Year

What is the status of digitalization in the Indian
economy? Examine the problems faced in this
regard and suggest improvements.

Sfto Slo Tto T fafHT0r & fAYTHR THo THo THo So B
¢ 5% R A anfdfe dafe & R srawgs 21
39 Y6y § WHR B gaqH il W femult Hifsm|

10 Marks

150 Words

2023

Most of the unemployment in India is structural
in nature. Examine the methodology adopted to
compute unemployment in the country and
suggest improvements.

YR H T ST SRISTRY Ui & TS § 1 URd &
SRISITRY 1 0T o 7T SUTS 778 Uegicl BTURTEIT HIOTT
3R YR & Jerd <o

15 Marks

250 Words

2023

Distinguish between 'care economy' and
'monetized economy'. How can care economy be
brought into monetized economy through
women empowerment?

TGUTE SrfTaRIT SR 'Gidhd AHfTaRIr & s 3R
DY | ARG FRITRIDPRUN b GRT GGHTA

Srfaraet & Gelord Srdaraw § &Y /™ ST qhdl 67

15 Marks

250 Words

2023
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Is inclusive growth possible under market
economy? State the significance of financial
inclusion in achieving economic growth in India.

T TR ST P 3T JHIARN faprg IHT B ?
YR H 3 fam o1 uifty & fore fa<hia gHaw &
gt &1 I@eg BT

10 Marks

150 Words

2022

The increase in life expectancy in the country has
led to newer health challenges in the community.
What are those challenges and what steps need
to be taken to meet them?

SR H 31g YHTfAaT H 3118 i Y TS H 78 W@y
AR @ et 81 T §1 g S gl S-a e 9 § 8k
3% THIYT g F1-F1 HEH 31U Ol 3aIH 87?7

10 Marks

150 Words

2022

‘Economic growth in the recent past has been led
by increase in labour productivity." Explain this
statement. Suggest the growth pattern that will
lead to creation of more jobs without
compromising labour productivity.

"1 & &l o1 3 fam 9| Idesdhdr A 3fc &
PRI EYE G 81" T U B! FAIsY | U Hafek
JiRsy 1 TRdTfad 1o Sl 4H SdTadhdl § Tl fbl
fSrT Stferep ISR Iaafl # He1ash &l

15 Marks

250 Words

2022

Explain the difference between computing
methodology of Inda's Gross Domestic Product
(GDP) before the year 2015 and after the year
2015.

YR &1 Tl g SIG (Sit.s1Ul) & I8 2015 & gd adl
qu 2015 & TYTq IR fafd T 3R &1 ARSAT DI

10 Marks

150 Words

2021

Do you agree that the Indian economy has
recently experienced V-shaped recovery? Give
reasons in support of your answer.

T 3TT JGHA § b HRA Sfcgaw 3 g1l g1 | V-
THR & FASUM HI U fhar § ? SR ufled 3o
IR DI Y BT |

15 Marks

250 Words

2021

Explain intra-generational and inter-generational
issues of equity from the perspective of inclusive
growth and sustainable development.

gHTasi Hgfs vd Juruuity faera & uRed , sriddid]
T4 3fauldl g o fawal & saren Sifou|

10 Marks

150 Words

2020

Define potential GDP and explain its
determinants. What are the factors that have
been inhibiting India from realizing its potential
GDP?

10 Marks

150 Words

2020
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THTH o o Jo (STo To Ulo) BT TRUTIT HIfoTT T
395 RYRS! Bt RAT BT | T BH-

PHRP g, S HRA DI 3T JHTHT o Fo FJo (Sio Sto o)
D) IR B4 Y A 8 87

It is argued that the strategy of inclusive growth
is intended to meet the objectives of
inclusiveness and sustainability together.
Comment on this statement

Tg o fean Siran § o wama sl Tgfe o1 o &1 e
TH T JATARET 3R yrofiagar & Ie=al i
T {1 91 8 1 39 Y WR fewoft sifSuy

15 Marks

250 Words | 2019

Do you agree with the view that steady GDP
growth and low inflation have left the Indian
economy in good shape? Give reasons in support
of your arguments.
T 30 39 Ad W TGH ¢ [ Jhd TR SdIG (Sio o
Ulo) i I e T FH ERWIA & HRUT HRA A
%%agawa@ﬁ@rﬁrﬁ%? 3T Tl b THUA H HRUT

I

10 Marks

150 Words | 2019

How would the recent phenomena of
protectionism and currency manipulations in
world trade affect macroeconomic stability of
India?

f3% IR & WReomaTe 3R GaT Araaior) ot gid &I
aRgeHE YR Bt FAS-3Mfes RRAT &1 frg UsR 4
T B2

15 Marks

250 Words | 2018

"Access to affordable, reliable, sustainable and
modern energy is the sine qua non to achieve
Sustainable Development Goals (SDGs)."
Comment on the progress made in India in this
regard.

ST BT & IdTeH, IUH! IATGHdT U4 31T & 3G
PRAH SRTEM =M (THo Tdo THo) &1 YT BT
3TH | I8 fral & 3 g | gl d Ihd
U

15 Marks

250 Words | 2018

How are principles followed by the NITI Aayog
different from those followed by erstwhile
Planning Commission in India?

WRd A ST gRT S ey by w1 X8 Rig 392 ud
% TIoT TN GRT SARd Rigrl 4 fhd UaR id 87

15 Marks

250 Words | 2018

What are the salient features of ‘inclusive
growth'? Has India been experiencing such a
growth process? Analyse and suggest measures
for inclusive growth.

15 Marks

250 Words | 2017
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TR Wafe' & T TS T § 7 R WRA 39
UHR & Tqfg TehH BT 3HA Bl 8T § 7 fazawor
HIfoTT Td JHGRN Idfg 8 SU™ s |

Among several factors for India’s potential 10 Marks | 150 Words | 2017
growth, savings rate is the most effective one. Do
you agree? What are the other factors available
for growth potential?

YR &1 THIT Tgfa & 3Fdh SR A g9d o, Jaifrd
TUTAT 8 1 T 31U ST TEHd 67 Wgig SHTH & 3=
P Y PR IUAS © ?

Pradhan Mantri Jan Dhan Yojana (PMJDY) is 12.5 Marks | 200 Words | 2016
necessary for bringing unbanked to the
institutional finance fold. Do you agree with this
for financial inclusion of the poor section of the
Indian society? Give arguments to justify your
opinion.

T T2t SF-44 T (Fo THo Slo Elo dTg0) Sapfgal
1 YR fad § A & oY MR g1 7 311U 60 ©
fob Y YR FHIS & TRIs el & QI b1 fawiig
AR B? 30 Ad &1 G & for b TRgd Jiforu|
Justify the need for FDI for the development of 12.5 Marks | 200 Words | 2016
the Indian economy. Why there is gap between
MoUs signed and actual FDIs? Suggest remedial
steps to be taken for increasing actual FDIs in
India.

YR Srfea®y1 & fasm™ | Tho Sto 3150 B
TIRGHdl B! Y BT | SXeiRa THdT-Ja=1 T
IR Tho Sto 3MTgo & did <R il g7 HRd H
KA Yo Slo 3o Dl IgM & oy GYRTHD DHaH
NEIE

Comment on the challenges for inclusive growth | 12.5 Marks | 200 Words | 2016
which include careless and useless manpower in
the Indian context. Suggest measures to be taken
for facing these challenges.

YRdTg gasf & g fyera & g gfaar, o
ATORATE 3R IHR SRIfa M g, W fewht Fifom|

S ANl T ITET HRA & SUT GIRT

How globalization has led to the reduction of 12.5 Marks | 200 Words | 2016
employment in the formal sector of the Indian
economy? Is increased informalization
detrimental to the development of the country?

RO SrRfeaT 7 32fienvur & URUTATRST U=
&1 7 ASHTR H& BH gU? o1 TGl g3 SRl o2
¥ fapTg & foru g1 R® 872
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“Success of ‘Make in India’ programme depends | 12.5 Marks | 200 Words | 2015
on the success of ‘Skill India’ programme and
radical labour reforms.” Discuss with logical
arguments.

""YRA H ST HRIHH B FHad], 'HIRT HRA' HRIHH
3R S 41 YR Pt e R AR Fat g1
THEHd Gefal o 91 T Biforu |

The nature of economic growth in India in recent | 12.5 Marks | 200 Words | 2015
times is often described as jobless growth. Do
you agree with this view? Give arguments in
favour of your answer

BT & THg H HRd # SN gfg & Uepfd &1 o=
SRR B Ygfx &b AR W a1 AT 81 1 319 39
IR I TEHd § ? 3U IR & 9 T I URdd il |
Craze for gold in Indians has led to a surge in 12.5 Marks | 200 Words | 2015
import of gold in recent years and put pressure
on balance of payments and external value of
rupee. In view of this, examine the merits of Gold
Monetization Scheme.

& T HRdTA! & IH1G A §1dd o a8l & I & 3mard
T Uiah (IBTA) ITT HR a1 8 SR YITaH-Tder 3R
FUY & §Te] YU TR ¢aTd Sl § | 39! ¢ad gy, Wl
BT TSI & 70N BT URI&0T DI |

“While we flaunt India’s demographic dividend, 12.5 Marks | 200 Words | 2014
we ignore the dropping rates of employability.”
What are we missing while doing so? Where will
the jobs that India desperately needs come from?
Explain.

"Fo TR §H HIRA & SR 1 ATHIRI (SHRTTh S
ffads) o T & veRid #vd €, 39 w1 519 ASHTR-
T B Tl a1 T TG PR &dl § " T 8H
T X § D13 g BRI 67 HRA P! o1 Sirell Bl

I § PR g, d Sld Hal Y MET? W Hiforw|
Capitalism has guided the world economy to 12.5 Marks | 200 Words | 2014
unprecedented prosperity. However, it often
encourages short-sightedness and contributes to
wide disparities between the rich and the poor. In
this light, would it be correct to believe and
adopt capitalism for bringing inclusive growth in
India? Discuss.

goitarg = fay sricaw &1 31ydyd 9Hig dd -
fder forar 81 ireg bR +fY, 98 3R srgReRfar &1
TRd HRal § aul ear 3R A1 & ofg faxga
AT D! TETaT a1 g | TP UHT H, YRA H JHTALM
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qfg &I a1 & [IE o1 Yottare [y BT 3R 3D
3{OHT ST Tl BRIT? Tl pifor|

With a consideration towards the strategy of
inclusive growth, the new Companies Bill, 2013
has indirectly made CSR a mandatory obligation.
Discuss the challenges expected in its
implementation in right earnest. Also discuss
other provisions in the Bill and their implications.

ﬂﬂﬁ?ﬁﬁmﬁwﬁﬁﬁwﬁwﬁ@ T IO

fad 2013 7 Gfed AEToIS IRERT' B ST TU
I AT FHeicd o e 81 39 THRaT ¥ ure o o
3Oferd gl &1 faaa Hifvi | 39 fod &1 3=
AR 3R 3! et of ot 7=l B

10 Marks

150 Words

2013

fawg - 3 (Y Td YA YUR) | Theme - 3 (Agriculture and Land Reforms)

Question

Marks

Words

Year

State the objectives and measures of land reforms
in India. Discuss how land ceiling policy on
landholding can be considered as an effective
reform under economic criteria.

YR & YA YR & I3 Ud UMl &! aarsy| e
HIacs! & Sfata, yfH Siid R yff der A 31 8 s
THTd! YR AT S oo 8, fad=1 sifom|

10 Marks

150 Words

2023

Explain the changes in cropping pattern in India
in the context of changes in consumption pattern
and marketing conditions.

QUd UeH U fauu qrmsii # uikads & deH H, 4R |
WA YRS (ShITUT Ue) H gu ulkad=t @t

HRHAT BT

15 Marks

250 Words

2023

What are the direct and indirect subsidies
provided to farm sector in India? Discuss the
issues raised by the World Trade Organization
(WTO) in relation to agricultural subsidies.
YRA B HY &F DI UM DI S dTcl TIel Td 3E
el 7 82 fay IR W6 (@sgo o
?ﬁﬁ%@ FRT 33T U B TSt Teifdra et ot g
I

15 Marks

250 Words

2023

How does e-Technology help farmers in
production and marketing of agricultural
produce? Explain it.

PN I & IdTeA T fauu & §-deb-ieb fbari o
59 UBR Heg Bl 87 38 gHESU|

10 Marks

150 Words

2023
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What are the major challenges of Public
Distribution System (PDS) in India? How can it be
made effective and transparent?

YRA T ISl [aaRor yomet (@31.89,) &t 1gE
T T & 7 39 5 YR T quT UREIT S S
oI g ?

10 Marks

150 Words

2022

Elaborate the scope and significance of the food
processing industry in India.

HRA § TTe] THHRT IENT & SIS 3R Hewd Bl
JIITIR guiq SIS

10 Marks

150 Words

2022

What are main bottlenecks in upstream and
downstream process of marketing of agricultural
products in India?

YRA § HIY IdTG! & [GU0M Bt Sy 3R regt
wifdhan H TR 1T o §7

15 Marks

250 Words

2022

What is Integrated Farming System ? How is it
helpful to small and marginal farmers in India?
TRfpa PR O 1 & 2 URe B BIe SR S R
& feTY Ig B AHITTSD Bl Hebdll & 2

15 Marks

250 Words

2022

How did land reforms in some parts of the
country help to improve the socio-economic
conditions of marginal and small farmers?

P $B YA H W GURI A GHid $fR Y fHari 3
T - e fRUTT &1 guRA & o fhw UeR wgrar
PBIg?

10 Marks

150 Words

2021

How and to what extent would micro-irrigation
help in solving India's water crisis?

YRA & 5Id Tabe & T H, JeA-Riams 9 iR vy
AT db TETaD g ?

10 Marks

150 Words

2021

What are the salient features of the National
Food Security Act, 20137 How as the Food
Security Bill helped in eliminating hunger and
malnutrition in India

RIS @ GRafM SHfAfaw, 2013 &t e faxivard i g ?
1] JR&M 8T = URA § Y& dUT HUITU DI g A |
o PR TGl &1 5 ?

15 Marks

250 Words

2021

What are the present challenges before crop
diversification ? How do emerging technologies
provide an opportunity for crop diversification?
Y fafaedar & qrer AT gAIfaal &1 § 2 SHRA
UrRNffal wad ffded & o i TeR s ueH
I G ?

15 Marks

250 Words

2021

What are the main constraints in transport and
marketing of agricultural produce in India?

10 Marks

150 Words

2020
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YRA U PN IdTGl & URag Ud [duue o T ST o
&7

What are the challenges and opportunities in
food processing sector in the country? How can
income of the farmers be substantially increased
by encouraging food processing?

S H W TR & I AT U9 SR 187 T
TR D UIATR PR PUDI D! 31T |

T i B BT o et 872

10 Marks

150 Words

2020

What are the salient features of the Jal Shakti
Abhiyan launched by the Government of India for

water conservation and water security?
S TREUT UG O YR&f 8 YR RPR gRI Yafad oid
fa A &1 U fa=ivdTd o1 87

10 Marks

150 Words

2020

What are the major factors responsible for
making rice-wheat system a success? In spite of
this success how has this system become bane in
India?

YT-TIg YUTERt B! el M & oIl BIH-Y T HREB
ITRerl €7 39 Tthard] & STavie I8 T HRd §
3T 8 §9 718 &2

15 Marks

250 Words

2020

Suggest measures to improve water storage and
irrigation system to make its judicious use under
depleting scenario.

etz ulkezy § fadet ofd ITART & foe oI HaRUT
3R Rfars vomedt & UR & Iurdl &l Y|

15 Marks

250 Words

2020

What are the reformative steps taken by the
Government to make food grain distribution
system more effective?

TS IR0 YUITelt 1 31fdh THTAT 39 8 IRPR GRI
HH-HH I GURTHAS HeH I31E T 87

15 Marks

250 Words

2019

Elaborate the policy taken by the Government of
India to meet the challenges of the food
processing sector.

T URRHRUT & B ANl o FHTYH g HRA IRBR
GRT 3(UATS 718 A1 B WAWR W DI

15 Marks

250 Words

2019

How far is the Integrated Farming System (IFS)
helpful in sustaining agricultural production?
THIPd P YUt (310 Tho THo) fords et o Y
TG Pl HUTRA HA H HgTIP 57

10 Marks

150 Words

2019

Elaborate on the impact of the National
Watershed Project in increasing agricultural
production from water-stressed areas.

10 Marks

150 Words

2019
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ST -Ufdsferd &=l A HiY Ire H gl = H PR Sfal-
faHSIE TR & THTE & IfddR WY Hifog|

How was India benefited from the contributions
of Sir M.Visvesvaraya and Dr. M. S. Swaminathan
in the fields of water engineering and agricultural
science respectively?

ot ST 3R HIY-fas & & & st W THo
a1 3R Sfo THo THo WA & TNTGH!
YR B! {5 JpR a1y ugar Ur?

10 Marks

150 Words | 2019

Assess the role of National Horticulture Mission
(NHM) in boosting the production, productivity
and income of horticulture farms. How far has it
succeeded in increasing the income of farmers?
ST B! & SdTGH, ITD! IAGHAT U4 3T & Iig
B H AP SE] R (THo Teo THo) I .
Y{HDT BT SHTha DI | Tg haHl DI 31T dgH H Dl
IH AT §3HT &7

15 Marks

250 Words | 2018

How has the emphasis on certain crops brought
about changes in cropping patterns in recent
past? Elaborate the emphasis on millets
production and consumption.

Td a8 § $© a9 Had! O oIk A 9% e § forg
SR URad o fat 87 Hie Sl (el &

TG 3R IUHN R I Bl [IRARYID T P

15 Marks

250 Words | 2018

Examine the role of supermarkets in supply chain

How do they eliminate number of intermediaries?
e, Afeyral SR g vardl & Syl 4ge yeie |
JRETSIRI Bt YA $I S Bifore |  foiferat

Pl T B fFH YHR TH IR 3d 87

management of fruits, vegetables and food items.

10 Marks

150 Words | 2018

What do you mean by Minimum Support Price
(MSP)? How will MSP rescue the farmers from the
low income trap?

aH T g (@Ho o Ulo) § 3110 T TN 7
gAqH T g $VD! o1 (99 31 e ¥ fohd TR
§aTd HI?

10 Marks

150 Words | 2018

What are the reasons for poor acceptance of
cost-effective small processing unit? How the
food processing unit will be helpful to uplift the
socio-economic status of poor farmers?

ANTT UHTAT BT UhHUT ShTs 1 3T WIHIRAT & T
HRUI g ? T UHHUI 3HTS TRIS fhaMT bl JrHToTh-
e fRufa 1 SR o™ # f$T TR Tgras gt ?

10 Marks

150 Words | 2017
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What are the major reasons for declining rice and
wheat yield in the cropping system? How crop
diversification is helpful to stabilize the yield of
the crop in the system?

T 7 B U 3R I B R g5 SUel & ol -
T HRU G ? 97 T HIal B IU & R0 H, T
fafgeie=or frd YR HeaTR BIa1 8 ?

15 Marks

250 Words

2017

Explain various types of revolutions, took place in
Agriculture after Independence in India. How
these revolutions have helped in poverty
alleviation and food security in India?

YRA T WGdAdl & a1 HY F 371 Al GHRi &1 hifaal

DI WY DI | 37 Hifedl 7 HRA B TRIS I 3R e
R& H fPY UPR FEHdl UeH i g ?

10 Marks

150 Words

2017

How do subsidies affect the cropping pattern,
crop diversity and economy of farmers? What is
the significance of crop insurance, minimum
support price and food processing for small and
marginal farmers?

TETRIfGat T ufaey, T fafaedn 8ik Syl ot
3nfies R Y b TR Ui el § 2 oY 3R
HHid FuD! & 1T, B SiHT, Aad FHE I 3R
e YRR &1 R He@ 6 2

15 Marks

250 Words

2017

What is water-use efficiency? Describe the role of
microirrigation in increasing the water use
efficiency.

STA-JUANT Gl U MY T THSTd &7 SId-SUaNT Gafal
&I 9gH & Jer RS &t YA &1 9 Hifog|

12.5 Marks

200 Words

2016

What is allelopathy? Discuss its role in major
cropping systems of irrigated agriculture
Vefenaedt a 87 Rifed Siv-as @1 we wea usfoa o
P! YHHT T qUH B

12.5 Marks

200 Words

2016

Given the vulnerability of Indian agriculture to
vagaries of nature, discuss the need for crop
insurance and bring out the salient features of
the Pradhan Mantri Fasal Bima Yojana (PMFBY)
YRA HY DI UPfd &1 sffEdars R Fkar s
TEOR, O STHT 1 STl 1 faaeT BT 3R
T H Bd §1HT I (Ut THo TWo §lo dT30) i
T faRIvdT3T o1 Ird i

12.5 Marks

200 Words

2016

Discuss the role of land reforms in agricultural
development. Identify the factors that were
responsible for the success of land reforms in
India.

12.5 Marks

200 Words

2016
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PN [qHr H Y GURT B! YHBT B! [daa-T Difod | HRd
o Yffy GYRT o1 I ddl & fol IaRar SRI &l fgd
DI |

How can the ‘Digital India’ programme help 12.5 Marks | 200 Words | 2015
farmers to improve farm productivity and
income? What steps has the Government taken in
this regard?

f&fTed YR ®ded Wd IATeHdr 3R 3 &l dgH |
g BT s TPR TERIdT HR THl § ? PR 4 39
T H 1 HaH I3IU 6 ?

What are the impediments in marketing and 12.5 Marks | 200 Words | 2015
supply chain management in developing the
food processing industry in India? Can e-
commerce help in overcoming these bottlenecks?
YRA T W] YRRDBRUT I BT [AhI B B I8 |
faaur SR gl Afaret weie H R Sl €2 R g arenaft
R HTY UM H §-a1f0rsd TR 8 Gohell 37

Livestock rearing has a big potential for providing | 12.5 Marks | 200 Words | 2015
non-farm employment and.income in rural areas.
Discuss suggesting suitable measures to promote
this sectors in India

o &5 & FHR AR R 3T HT TS FHRA o

TR UTe & et YU 81 YRA H 39 &5 &1 Wafd
TR & ITY IUTI T g Il Piforg |

In view of the declining average size of land 12.5 Marks | 200 Words | 2015
holdings in India which has made agriculture
non-viable for a majority of farmers, should
contract farming and land leasing be promoted in
agriculture? Critically evaluate the pros and cons
YR & HAU 4RO & T4 3d STHR B odd
gU, forads R HfAHTRT fobaml & ot Sy ey

S 7T 3, T T P BT SR YfH B Ug WA B
SeTaT & ST =gy ? $Hb Uel-faual o1 FHTcaTes
Hedih BT

In what way could replacement of price subsidy 12.5 Marks | 200 Words | 2015
with Direct Benefit Transfer (DBT) change the
scenario of subsidies in India? Discuss

Te Y SR (S8t ) & GRT BIAd TGB! B
TR HRd H GeTiifehdl & URE=g o1 fbd TR
ORET $X Il § ? Il Bifor|

The Right to Fair Compensation and Transparency | 12.5 Marks | 200 Words | 2014
in Land Acquisition, Rehabilitation and
Resettlement Act, 2013 has come into effect from
1st January, 2014. What are the key issues which
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would get addressed with the Act in place? What
implications would it have on industrialization
and agriculture in India?

YA 35, TToGR 3R gAareH & 3fd ufaas ¢k
ORI 1 $fBR SHRAFTH, 2013 Ugdl e, 2014
T yHTd 8 T 7 1 39 SifFH & IR EH 9§ -3
HEWYU T&| BT JATYM FAHa? YRd § Seiaur 3R
HY IR YD FIT GRUMH §iI?

There is also a point of view that agriculture 12.5 Marks | 200 Words | 2014
produce market committees (APMCs) set up
under the state acts have not only impeded the
development of agriculture but also have been
the cause of food inflation in India. Critically
examine.

T P10 g i B fob I Sififem & srefie wafta
PN I SOIR FHfaal (APMCs) 5 HRd & 9 Had
PN & faHr ! 1 b §, Ifcep d Wierag He s &I
HR 2 X&) § | THTGeTgd e gtem Bifu |

“In the villages itself no form of credit 12.5 Marks | 200 Words | 2014
organisation will be suitable except the
cooperative society.” — All Indian rural credit
survey. Discuss this statement in the background
of agriculture finance in India. What constrain and
challenges do financial institutions supplying
agricultural finances? How can technology be
used to better reach and serve rural clients?

"Tia} H ghR IAfT ol BigH:, HU1 TiTed HT His H
3 BT I et SR |- RIS HR<ATg AT 07
Fd&UT| YR H Y faw ot g8YA ¥, 39 HY W 94
BT | PN o T B arell faxita dwiredi i fob
SIS SR BT BT YrEHT HAT USdl 8?2 T
ATt dd SR Ugd 3R JaT & fore Uit &1 g
THR SXIHI T S Hhal 57

Food Security Bill is expected to eliminate hunger | 10 Marks | 200 Words | 2013
and malnutrition in India. Critically discuss
variousapprehensions in its effective
implementation along with the concerns it has
generated in WTO

AT R&M fod ¥ YR & 4@ T UV & A Bt SH1=1
B | ISP THTE Hrafaa | fafie Siisraft &1
JHTAIHD [dda=1 HISTT | T 81 g8 o 9T fobs fay
IR 13 (WTO) H 38 I i S 81 15 8 ?
India needs to strengthen measures to promote | 10 Marks | 200 Words | 2013
the pink revolution in food industry for better
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nutrition and health. Critically elucidate the
statement.

YRA H S8R UINU § WG A B & [0l T
T H TaTelt shifd UreIfd 8 SURT Bl YEg B Bl
TIGH & | 3 YT W HTAIIHD YHI ST

Establish the relationship between land reform,
agriculture productivity and elimination of
poverty in Indian Economy. Discussion the
difficulty in designing and implementation of the
agriculture friendly land reforms in India.
YR iyl B UR, FY Icghdr 3R e
ST & o9 T RAUA DI | YR & FY Sfmd
%}gﬁﬂﬁ%??qma 3T 8§ SidHSal 1 fdagHr

I

10 Marks

200 Words | 2013

What are the different types of agriculture
subsidies given to farmers at the national and
state levels? Critically analyze the agriculture
subsidy regime with the reference to the
distortions created by it.
RIS g ITh 1 TR W PP DI 3 o arell fafte YR
@1 3Mffes TTIATY D H-DIAI
g ? P 3nfies TeTaar a1 BT I¥DH GRT I
%ﬁmﬂ;%ﬁaﬁ ERCINIGE I EACRELL

I

10 Marks

200 Words | 2013

fowa - 4 @ﬁl’ql'cﬁ <ran ug faas) | Theme - 4 (Infrastructure and investment)

Question

Marks

Words Year

Why is Public Private Partnership (PPP) required
in infrastructural projects? Examine the role of
PPP model in the redevelopment of Railway
Stations in India.

gaTE! elanTd uRareTel § e el Sreier!
@) B saxgwar Fi g?HRd H X TIE &
gAider | fut . Aled &t YT &1 wRigur Hifr|

10 Marks

150 Words | 2022

Do you think India will meet 50 percent of its
energy needs from renewable energy by 20307
Justify your answer. How will the shift of subsidies
from fossil fuels to renewables help achieve the
above bjective? Explain.

T 3P TR H HRT 3T SHolf aRgehdl ol 50
Ufa=rd HFT, aY 2030 T TdHR0TT Iolf F U &R A
? 3 IR P 3 B g S| Sharey et
TIRTST FeTHR I TABRUNT Sroll Al H I ST
324 Ufd H iy UeR Werad

15 Marks

250 Words | 2022
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BIT ? SHRU

Investment in infrastructure is essential for more
rapid and inclusive economic growth”. Discuss in
the light of India's experience.

"oaR Td gaTaRT onfdie dgfs & forw smenfe-
AT B I e § 1" YR 3HT & uRvied o
[CEEGIGIIEN]

15 Marks

250 Words

2021

Explain the meaning of investment in an
economy in terms of capital formation. Discuss
the factors to be considered while designing a
concession agreement between a public entity
and a private entity.

T Srfcgawyl H ol A0 & & # fafai & s o
RSN BT | I HRDI Bt fade T BIFT, iS5 R Th
o= U4 T it M & Hed Remad srga
(PIRH TRA) IR -d 994 fIaR {3 S =nfeq

15 Marks

250 Words

2020

Examine the development of Airports in India
through joint ventures under Public — Private
Partnership (PPP) model. What are the challenges

faced by the authorities in this regard.

Hrdel=ep el YrfaRT (UTdith) Ared o sl ¥gad
IUHHI & HIH ¥ HRd H faH-geHl & farg &1 udieun
DI 3T T § WU & THeE DI I FAIfGar g ?

10 Marks

150 Words

2017

Give an account of the current status and the
targets to be achieved pertaining to renewable
energy sources in the country. Discuss in brief the
importance of National Programme on Light
Emitting Diodes (LEDs).

SR H Tl Solf & il & daH H g7l adr fRufd
3R YT fb S a1t < o1 fareRur <ifoe | yesTa
IGiPh SIS (Tefo So Slo) W AP HRIHH & Hew™ B!
fad=rr Tga A ifsr|

12.5 Marks

200 Words

2016

What are ‘Smart Cities'? Examine their relevance
for urban development in India. Will it increase
rural-urban differences? Give arguments for
‘Smart Villages' in the light of PURA and RURBAN
Mission.
W1 TR F T At 87 URd & e i H et
YR BT URI&I0 BT | T 38 ATHIOT T e
WU T FgIasl g7 Ulo Jo 3fRo To TH 3Ro Jo 3fRo
mmoﬁmq%wﬁﬁ'mﬁnﬁ' & o adb uRqd
I

12.5 Marks

200 Words

2016

To what factors can the recent dramatic fall in
equipment costs and tariff of solar energy be
attributed? What implications does the trend

12.5 Marks

200 Words

2015
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have for the thermal power producers and the
related industry?

R Soll B JUSU ANTA 3R SR H BT P AICHI
U & 1 SRS I8 T Thd & ? 39 Ui & arig
faqgd Iae®! 3R TRId IR & forg & fAfgard & ?
National Urban Transport Policy emphasises on 12.5 Marks | 200 Words | 2014
‘moving people’ instead of ‘'moving vehicles'.
Discuss critically the success of the various
strategies of the Government in this regard.
IS TR uRkag Hifd 'aTei b1 Sfareiig! & ol
RN B SATATSTRT R I Gall & | T Tt H IRPR B
fafae JoRfET 1 Toherdl Bt STArHIAS T Biforu|
Foreign Direct Investment (FDI) in the defence 12.5 Marks | 200 Words | 2014
sector is now set to be liberalized. What influence
this is expected to have on Indian defence and
economy in the short and long run?

& &7 o faeeh yer fAawr (@ho o 3130) HI 3F
ITRIFd B B dIRY 8 | HRA Bt e 3R rfaqawyt R
SIHTd SHR EreTd B $Hb 1 THId SUfdd 87
Explain how Private Public Partnership 12.5 Marks | 200 Words | 2014
arrangements, in long gestation infrastructure
projects, can transfer unsustainable liabilities to
the future. What arrangements need to be putiin
place to ensure that successive generations’
capacities are not compromised?

THSSY fob depTicres Uab-Tafdl (GRexM) uTRes
TR uiasTTalt H ol i WriieRt (orgde ufsrs
UIERIRMY) {8 UHR YR (SHEHed) cddrsii bl
IS IR IR HR Tl 8| T8 AT Fx & ford fop
IR Uifea! & Gemdrait & I HIs A 7 81, o
FHGRITE R B S A1RT?

(a) Discuss the impact of FDI entry into Multi- 10 Marks 200 Words | 2013
trade retail sector on supply chain management
in commodity trade pattern of the economy. (b)
Though India allowed Foreign Direct Investment
(FDI) in what is called multi-brand retail through
the joint venture route in September 2012, the
FDI, even after a year, has not picked up. Discuss
the reasons.

(a) 3ITaRIT & AT AR UGHd H SgoTUR Qe &3 §
fac=it Uer (=1 & Gd=1 & GHTG B =T Hifor|

(b) T YR A RidweR 2012 & Tgad 4 arf gr
SgHID] Yol HgdM ard AR H fad=ht yger Faw
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(FDI) &1 Wi ¢ &t ff, TR 39 Fawr & u a9 ugrq ot
IS I TS S 21 PRUN ! 3= HRMU)

Adaptation of PPP model for infrastructure
development of the country has not been free
from criticism. Critically discuss the pros and cons
of the model.

I A MYRYT TR F fIbrT & R-WIWRHRT Urfter
IS (PPP) HISH T SiTfiRUT STefia Hod el o | 39
AISd & Ugl-fdual i TS fdd<mT S|

10 Marks

200 Words

2013

Qg - 5 (@% fa«) | Theme - 5 (Public Finance)

Question

Marks

Words

Year

Distinguish between Capital Budget and Revenue
Budget. Explain the components of both these
Budgets.

Jooft e YT IR Sole, & Heh 3R T Hiford | 39
FRIESEERPEEIEIREEIR

10 Marks

150 Words

2021

Explain the rationale behind the Goods and

Services Tax (Compensation to states) act of 2017.

How has COVID-19 impacted the GST
compensation fund and created new federal
tensions?

I TS a1 B (XIS BT &gl Siffam, 2017 &
THTUR Bt RS BT | HIIS-19 3 Y a¥ TG Il
AR &fagfd R @it THo To BT B78) BI yHIfdd
3R T G el bl I foba g2

15 Marks

250 Words

2020

The public expenditure management is a
challenge to the Government of India in context
of budget making during the post liberalization
period. Clarify it.

STR-IERIBRUT 3(afY &b SR, Fore FAHi0r & Fasi 7,
T T TeeH YR IRBR P TH& T g gl
THD! WE FIfT

15 Marks

250 Words

2019

Enumerate the indirect taxes which have been
subsumed in the goods and services tax (GST) in
India. Also, comment on the revenue implications
of the GST introduced in India since July 2017.
o-Ufdaierd & A HiY e H gig B H AP ol
fqyTier U & UHTd DI JAR WY SHifor|

10 Marks

150 Words

2019

Comment on the important changes introduced
in respect of the Long Term Capital Gains Tax
(LTCGT) and Dividend Distribution Tax (DDT) in
the Union Budget for 2018-2019.

10 Marks

150 Words

2018
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Fd geie, 2018-2019 H fdeiere Yol Sifiemy HR
(@co o Sffo Eo) TUT ATHIT fIARTT HX (Slo Slo Elo) &
Teey B gRY Py MU Aewayof uRad-1 R fewh i)

One of the intended objectives of Union-Budget | 15 Marks | 250 Words | 2017
2017-18 is to 'transform, energize and clean
India’. Analyze the measures proposed in the
Budget 2017-18 to achieve the objective.

2017-18 & Feflg swic & 3iiy I52dl # 4 U 35
"YRd P TUIART BT, SHolid ST 3R HRd &l W

HT 81 39 I DI U B & folg doie 2017-18 |
WHR gRT TIdd I} o1 [azavur Hiforg |

Women empowerment in India needs gender 12.5 Marks | 200 Words | 2016
budgeting. What are the requirements and status
of gender budgeting in the Indian context?

YR & Afgd SRifaqa?or & oy Siex JuifcT oifard g1
YR T | SIER IeifeT &t T Savgedhard ud
fRufe 7

What were the reasons for the introduction of 10 Marks | 150 Words | 2013
Fiscal Responsibility and Budget Management
(FRBM) Act, 20037 Discuss critically its salient
features and their effectiveness.

fa<iia a1 $fR swic Usie (FRBM) St 2003 &1

UR™Y H & T HRUT Y ? Iqh TG TGe 3R ITab!
YT &1 FHEAEIAS fdda Hifr|

Discuss the rationale for introducing Goods and 10 Marks | 150 Words | 2013
Services Tax (GST) in India. Bring out critically the
reasons for the delay in roll out for its regime
YRA U AT G 9al B (GST) URDY HRA b TATUR
I P | T AR D AR DHRA H fderd & HRUN
1 GHIAFATHS duH BT 200 sq]

What is meaning of the term tax-expenditure? 10 Marks | 200 Words | 2013
Taking housing sector as an example, discuss how
it influences budgetary policies of the
government.

‘R W' (Tax expenditure) HT FT 34 § ? T8 & BT
JGIERUI Aid gU fade 1 o foh I8 I &1 Soie-dadh
iferdl BT gHIfad R 3
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